
9.13     List of available partsList of available parts     9.139.13

AVAILABLE PARTS
BeoVision 1 (Update II) – BeoVision 1 L

9005

9006

9007

9008

9010

9014

Se also page 4-4

1

1

1

1

2

2

2

8

8

8

8

>PP TV40<

>PP TV40<

9015

9016

9017

9018

9015

9019

9020
9015

9019

9020
9015

9017

9021

9018

9

9

9

10

10
10 10

10
10

10
10

10

10

10

10

10

10

10

10

9001

9003

9002

9004

See also page 4-3 and 4-4

>PAA GF50<

>PAA GF50<

59
5

5

5
5

3

3

6

6

92

26
26

26
26

6

6

9050

24

25

24

25

24

25

24

25

63
W20

20

7

7
7

7

6

6

6

7

7 7

7

7

9052

9053

9054
9055

51

61

64

85

999

9022

26
26

9056

4

4
4

4

9013

5
5

5
5

10

1001

11

ABO-CENTER v/HENRIKSENS ELEKTRONIK



BeoVision 1 (Update II) – BeoVision 1 L 9001 3151615 Holder f/chassis
9002 8052650 Frame f/picture tube, 
  complete
9003 3151546 Holder f/chassis, left
9004 3151545 Holder f/chassis, right
9005 8200111 Picture tube
9006 3320448 Frame f/contrast screen 
  incl. pos. no. 9010
9007 3340185 Gasket f/contrast screen
9008 3451725 Contrast screen
9010 2391105 Blind plug
9013 3130147 Turn mechanism
9014 3440192 Back cover, blue
 3440193 Back cover, green
 3440194 Back cover, red
 3440195 Back cover, grey
 3440196 Back cover, black
 3440197 Back cover, yellow
9015 2937313 Rubber bushing
9016 3440200 Loudspeaker box, 
  complete w/speakers
9017 8480214 Woofer

9018 3340097 Gasket f/woofer
9019 3340098 Gasket f/tweeter
9020 8480292 Tweeter
9021 3320436 Cloth front, blue
 3320437 Cloth front, green
 3320438 Cloth front, red
 3320439 Cloth front, grey
 3320432 Cloth front, black
 3320435 Cloth front, yellow
9022 3440210 Cable cover, blue
 3440211 Cable cover, green
 3440212 Cable cover, red
 3440213 Cable cover, grey
 3440214 Cable cover, black
 3440215 Cable cover, yellow
9052 3151607 Holder f/PCB61
9053 2380145 Nut f/PCB85
9054 3162778 Cover f/Masterlink
9055 3160241 Cover f/socketpanel
9056 3131422 Cover (when Motor 
  Stand not used)

W20 6100325 Mains lead EU
 6100404 Mains lead GB
 6100391 Mains lead 4.5m

6Module  PCB6, Main microcomputer
6IC3&6IC6 8344047 EPROM
PCB6, Main microcomputer is not available as spare part

10Module 8006503 PCB10, Sound Output incl. pos. no. 1001
1001 2776642 Button f/mains switch

11Module 8006501 PCB11, IR Receiver

20Module 8006504 PCB20, Satellite

51Module 8000568 PCB51, Masterlink

59Module 8005688 PCB59, Camcorder Interface

61Module 8005946 PCB61, STB-Controller

63Module 8000521 PCB63, Splitter & Modulator, system B/G
 8000522 PCB63, Splitter & Modulator, system I

64Module 8000539 PCB64, Powerlink

85Module 8008903 Jack STB-Controller

92Module 8006502 PCB92, Motor stand, complete

999Module Main chassis consist of PCB1, PCB3, PCB4, PCB6, PCB74
 8053457 Main chassis, system B/G
 8053458 Main chassis, system B/G/D/K/M/I
 8053459 Main chassis, system B/G/L/L’/I/D/K

Survey of screws 1 2054025 Screw 4 x 10mm
2 2044047 Screw 5 x 15mm
3 2013176 Screw 3 x 6mm
4 2054027 Screw 4 x 8mm
5 2013223 Screw 4 x 10mm
6 2019021 Screw 4 x 12mm
7 2013137 Screw 3 x 10mm

  8 2052019 Screw 5 x 14mm
  9 2052025 Screw 4 x 12mm
10 2013123 Screw 3 x 10mm
24 2044080 Screw 3.5 x 125mm
 2042077 Screw 3 x 125mm
25 2816361 Spring
26 2042074 Screw 4 x 8mm

List of available parts     9.14

ABO-CENTER v/HENRIKSENS ELEKTRONIK



9.15     List of available parts

Wire bundles See wiring diagram page 9.11 and 9.12.
The part no. is printed on the diagram above the wire bundle, as shown.

Parts not shown  3658271 Product cover
 2752068 Service stand
 3395186 Back-up suitcase, system B/G
 3395187 Back-up suitcase, system B/G/D/K/M/I
 3395188 Back-up suitcase, system B/G/L/L’/I/D/K

Accessories See specifi cation guidelines page 9.3 for BeoVision 1 (Update II)
See specifi cation guidelines page 9.5 for BeoVision 1 L

Available documentation  3508412 Guide, Danish
 3508413 Guide, Swedish
 3508414 Guide, Finnish
 3508415 Guide, English
 3508416 Guide, German
 3508417 Guide, Dutch
 3508418 Guide, French
 3508419 Guide, Italian
 3508420 Guide, Spanish
 3508421 Guide, Portuguese
 3508422 Guide, Russian

 3503909 Reference Book, Danish
 3500910 Reference Book, Swedish
 3503911 Reference Book, Finnish
 3503912 Reference Book, English
 3503913 Reference Book, German
 3503914 Reference Book, Dutch
 3503915 Reference Book, French
 3503916 Reference Book, Italian
 3503917 Reference Book, Spanish
 3503918 Reference Book, Portuguese
 3503919 Reference Book, Russian

 3543338 On-site service guide - English, German, 
  French, Italian, Spanish, Danish, Dutch

All other available parts All other available parts, see chapter 4.

ABO-CENTER v/HENRIKSENS ELEKTRONIK


	AVAILABLE PARTS
	BeoVision 1 (Update II) – BeoVision 1 L
	List of parts BeoVision 1 (Update II) – BeoVision 1 L
	Wire bundles
	Parts not shown
	Accessories
	Available documentation
	All other available parts




